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Job m cm mm ft in
m 1 100 1000 3.28 39.37
cm 0.01 1 10 0.0328 | 0.3937
mm 0.001 0.1 1 0.0033 | 0.0394
ft 0.3048 30.48 304.8 1 12
in 0.0254 2.54 25.4 0.0833 1
o luo m? cm? mm? uloj hr min sec
m? 1 104 106 hr 1 60 3600
cm? 1074 1 100 min 1/60 1 60
mm? 107 0.01 1 sec 1/3600 1/60 1
[LE m3 cm3 litr
m3 1 106 1000 L juw km/h m/s
cm? 107° 1 0.001 km/h 1 0.278
litr 0.001 1000 1 m/s 3.6 1
U9 - 9 ton kg g kN N Lo alg) ol ojlaul
ton 1 1000 106 10 10* in mm
kg 0.001 1 1000 0.01 10 1/, 15
g 10° 0.001 1 1075 0.001 3/4 20
kN 0.1 100 10° 1 1000 1 25
N 107* 0.1 100 0.001 1 11/, 32
11/, 40
Ui - jJud | MPa | kPa Pa | kg/cm? | kg/m? | N/mm? | kN/m? 2 50
MPa 1 1000 | 10° 10 105 1 1000 21/, 65
kPa 0.001 1 1000 0.01 100 0.001 1 3 80
Pa 107 | 1073 1 107 0.1 10°° 0.001 4 100
kg/cm? 0.1 100 10° 1 104 0.1 100 6 150
kg/m? 10~° | 0.01 10 1074 1 1075 0.01 8 200
N /mm? 1 1000 | 10° 10 105 1 1000 10 250
kN /m? 0.001 1 1000 0.01 100 0.001 1 12 300
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km m
80— x 0.278 = 22.24—
h s

kg
25 MPa x 10 = 250 ——
cm

420 MPa = 420 3
mm

400 mm? x 0.01 = 4 cm?

kN kg
5— X 100 = 500—
m m

kN
1— %1000 = 1000 Pa = 1 kPa
m
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